FyFL—ILAL ﬂifﬁ (AL) 0, FyTL—IL(AL)
RMT9040 T I A RMT9040
o rSZXFHRE R (SUS) Q ; 3600
g M4 x 13 E: | Qj
HSBPAYELSE R (SUS) T 2550 40 1096.7 40 1096.7 40 1096.7 40 50 25
P: M4 x 30 P: i \ REHMEETL—F (AL ] b T
° WEEAEEE T L —h (AL ° i RMP44CLA . .
- RMP75CLA - E#AD Sl | | i
EREEEEA (AL RMUS075 l ;
10 RMU50CHA—A 10 FARINRT(SUS) o | |
FH(AD M4 X 120r16 S [ |
RMU5075 i i
EREESEAAL | &
RMU5S0OCHA—A I3 ILER (AL i v 3 i
2 3 (AL 3 S2025PN \AFvar A\ ATvay
= RMP7550 o /33 JLFR#% (AL)
= THREEEEA (AL T $2040PN i 1200 1200 1200 L
RMUS0CHA—A ALY SR o
M87RwJFwh (AL) ZR s=1/40 AR X AEE E L —h (AL)
RARILEMSE x 22 /3L (AL) o RMP75CLA
M8 T Fwh (AL) S2025PN ko FL—IL(AL) 0 TURFvy T (45H8)
RARILEMS x 30 RMT9040 \ RMR9040ECP
© 50 T#(AL) o T#:(AL) - ;
~ — RMU5075 = RMU5075 o ! v
< /
: THETESEAML THIRIESEAMADFT Y3y = dee L LB RARIE(SUS)
o @\, | RMUS0CHA—A RMUSOTHA Tj | M8 x 22 S
3 7 N M8y T Fh (AL 3 AER IR (SUS) I | AARLR(SUS) ~| B
9 i \ ARERILIME x 22 M8 x 30 S . 830
5 i BB HE 2 (SUS) FRIELSEBAL AT Ay EREAD T [ - 80_,
: M4 x 20 RMUSOYAA RMU5075 S - S
! BERSRET R vy T (AL) 8 BERTN— N A 2
! RMP75ECA £ SHR)LEM8—100(SUS) o B —
o “ M8 /L (SUS)
= f HERTUH—
' IR AR XS EB (AL
Ll 2} W —_ ) ) — N '/‘ Je
ImER S AEER MTER S=1/5 hR S IEE BEE S=1/5 REVE 2200 RMP75WHA
: S4040PN 40 BEHERERFREAMD
T_S?l'\‘y‘\j’ﬂ"yb(AL) (AL RMP75THA
RARILEMS x 30 RMP7550
‘J.u.lﬁ B N ~:\‘ o g — ;‘ w
BRI FEE (A . FARINRD(SUS) 40 40 /NI (AL 0 50 50 FRARILE(SUS) TRERSEARD P A EE R S EA (AL
RMP75THA I R -5 ) Méx120r1s O——0 S4040PN P I ——M8x22_ RMUS0CHA—A RMP75THA
i ] BE & B ~AER .
i XHEX R (B SN o SR R I U A /0 4 ABRIVEEUS)  somafLh(sus) BEEA RS AB (AL
RMP75WHA - 8] 9] — M8 x 30 M8 x 22 RMP7SWHA
| &@ 3 A @ I . FH (AL
""""" T |E:Jl Sl o . s a3 ksl T RMU5075 LLL
I lio ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ;&%%J?m— NE % 3
3 HE (AL THEEEEA (AL) IXFJLHE (AL) T#(AL) 70 2RTRILEM8—100 A
RMP7550 RMUSOCHA—A S2040PN RMU5075 ——(SUs) 0| g [ ' *l\g;ﬂ;g_?l;(;us)
~ - s ~ ~| ARARILE(SUS)/) 25 R —
95~115 W=360051F 95~115 | 80 s 525 AEAILE(BUS)
M8 x 30 3
FmBE S=1/5 ) AERILE(SUS)
[ L#t] THREEEEAAL M8 x22
) . RMUS0CHA—A
FLSRUFUTR =20k o S
7»51%1%5%’5@#& t=4 - ARV (SUS) IHER AT Ry (AL)
'7)1/1::_:')‘VZAP402PE(:ﬁ*:zf;b(*::) M8 x 22 RMP75ECA
<7 ILIRY VY AP4A03 . fr (= ZEH#iHE (%)) L g [P p——— _
] - TS ARILFRBOKBIETS 451 () AmaAEE SIER S=1/5
FTIE
VAN — % 4@ A H THA g L —_— B ek |fEkA &
2 . - | EEFLEFTY (SR —— ﬁﬂ%ﬁijyp_ h——= -
A _ BB |1 \ /NLa=—M 1508 /RBS—2BK2 | & Y | Y | fEM |FTIEA
A = W o *’F . A W R
AN — 2% i | BEX 2B/ F Y (W3600) % (An)

f#ll7E H :2006.12.07

W H : 2010.6.22

QOO PDOOPDOLOD

H-033



